Reducing harm in

clinical calculations
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What is a nomogram?

Nomograms are paper (or plastic sheet) diagrams
that nurses can do complex calculations on by
just drawing lines. The example on the right uses
two lines to do a drug dose calculation, getting
the rate in mL per hour and the volume from the
total mg dose, concentration, and duration of the
dose. The nomogram can be put in the patient

notes to record the calculation.
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Sometimes computers and calculators
aren’t best. Our experiments show that
calculations using nomograms are safer.
The barchart shows that for a
handheld calculator, over half of all

calculations have significant errors. 10%
of all errors are out by 50-75%.
Pencil and paper is slightly better,
but nomograms have no errors out by
more than 50%, and only 7% errors out

by 0-25%.

Out by 25-50%

Nomogram

mL per hour calculator (130 mL Flourouracil)

Printed date & time: 18:58:16 pm, Thursday, September 6 (2012).

Patient details: Lorem ipsum dolor sit amet, consectetur adipisicing elit, sed do eiusmod
tempor incididunt ut labore et dolore magna aliqua. Ut enim ad minim veniam, quis nostrud
exercitation ullamco laboris nisi ut aliquip ex ea commodo consequat. Duis aute irure dolor
in reprehenderit in voluptate velit esse cillum dolore eu fugiat nulla pariatur.
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Example: at concentration of 45¢57 mg/mL (A); dose 5,250 mg (B) over 4 days (C); needs a rate of 1e2 mL/hr (D)



